7-3 Similar Triangles

10.

Determine whether the triangles are similar. If
so, write a similarity statement. If not, what
would be sufficient to prove the triangles
similar? Explain your reasoning.
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SOLUTION:

Matching up short to short, middle to middle, and long
to long sides, we get the following ratios:
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XZ 14

WY 10 1.4

. UZ ux Az

Since s =1.4 then

Uy uUw o wy
AXUZ ~ AWUY by SSS Similarity.
ANSWER:

Yes; AXUZ ~AWUY by SSS Similarity.

SOLUTION:

No; BC' needs to be parallel to [2F for

ADAF ~ ABAC by AA Similarity. Additionally, there
are no given side lengths to compare to use SAS or
SSS Similarity theorems.

ANSWER:

No; BC needs to be parallel to DF for
ADAF ~ ABAC by AA Similarity.
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11.

SOLUTION:

We know that £ABC = AFED, because their
measures are equal. We also can match up the
adjacent sides that include this angle and determine if
they have the same ratio. We will match short to
short and middle to middle lengths.

5D _ 6 _3
BC ~ 10 5

BF _ 9 _ 19

3
BA ~ 946 15 5

Yes; since % = % and ZABC' = AFED we

know that ACBA ~ ADBF by SAS Similarity.

ANSWER:
Yes; ACBA ~ADBF by SAS Similarity.
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7-3 Similar Triangles

13.

Determine whether the triangles are similar. If
so, write a similarity statement. If not, what
would be sufficient to prove the triangles
similar? Explain your reasoning.
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SOLUTION:

The known information for AW XY relates to a SAS
relationship, whereas the known information for

AH JK is a SSA relationship. Since they are no the
same relationship, there is not enough information to
determine if the triangles are similar.

If JH = 3 or WY =24, then all the sides would have
the same ratio and we could prove
AJHK ~ AWXY by SSS Similarity.

ANSWER:
No; not enough information to determine. If JH =3
or WY =24, then AJHK ~ AWXY by SSS Similarity.
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19.

ALGEBRA Identify the similar triangles. Then
find each measure.

HJ, HK
o
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SOLUTION:

Since we are given two pairs of congruent angles,
we know that AH JE ~ AN QF, by AA Similarity.

Use the corresponding side lengths to write a
proportion.
i
NQ oF
dx+7 25
12 20

Solve for x.
204x+7)=12-25

80x +140 =300

S20x =160
=2

Substitute x = 2 in HJ and HK.
HI=4(2)+7
=15
HK =6(2) -2
=10
ANSWER:

AHIK ~ANQP. 15, 10
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7-3 Similar Triangles

20.DB, CB
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SOLUTION:
We know that ZCF .4 = ~ADFE (All right angles

are congruent.) and we are given that
msC=msB.

Therefore, ADFE ~ AAFC, by AA Similarity.

Use the corresponding side lengths to write a

proportion.
LDE _ FB
AC T FC
2x+1 g 2x -1
20 12
Solve for x.

12(2x+ 1) =20Cx —1)
24x +12 =40x — 20

—lex = —32
x=2

Substitute x = 2 in DB and CB.
DB=2(2)+1

=5
CB=2(@2)-1+12

=15
ANSWER:

ADEB ~ AAFC 5,15
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